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S FB SR (E) - NRAY - Be S Lo Soe RS2

& 145,000
= 145,000

02 Y2FoEx 290,000 288,000 2,000
OZdSHAH 43t 290,000
& 145,000
= 145,000

402 22t =01 1,010,000 1,712,000 A702,000
& 505,000
= 505,000

01 2IEXEE X 1,010,000 1,712,000 A702,000
oZd2HAH 43 1,010,000
& 505,000
= 505,000

SEMIFRH(SHAH)(=1) 2,700,000 1,400,000 1,300,000
= 2,700,000

308 NXISHHSOIH 1,625,000 808,000 817,000
= 1,625,000

01 MXEHINELS 1,625,000 808,000 817,000
ogEMY ZdAH 1,625,000
= 1,625,000

403 X HMEAH=01H 1,075,000 592,000 483,000
= 1,075,000

01 TXIEHMA=ZE = 1,075,000 592,000 483,000
OSELY ZelAH 1,075,000
= 1,075,000

S3E=s LA (21) 3,500,000 3,500,000 0
= 3,500,000

403 A XIEHSXH=01H 3,500,000 3,500,000 0
= 3,500,000

01 MXIEMA=2E = 3,500,000 3,500,000 0
SIS =SSEMNY 3,500,000
& 3,500,000

sXolgae XNJ(21) 351,101 322,327 28,774
Il 343,101
< 8,000

202 Oddl 7,000 8,000 A 1,000

01 WYl 7,000 8,000 A 1,000
OsidE &« 5t & gRE2 7,000

308 NHXISHHMSOIE 343,101 314,327 28,774
Il 343,101

01 XM EXS 343,101 314,327 28,774
OsXolE2el X 343,101
Il 343,101
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SN I SRI(S) - NRAY - B 0fl b Soe B RS2
405 XtobE SHI 1,000 0 1,000
01 XYL S SFSHI 1,000 0 1,000
OsXZel=HE ME(1A) 1,000

ALy ZHEH 25t 28,409,082 31,528,696 A3,119,614
= 27,890,378
Il 209,704
= 309,000

FRgoze 2Y(=21) 74,042 74,042 0
= 74,042

201 Let2g| 12,714 12,714 0
= 12,714

01 AtS 22/l 12,714 12,714 0
ogdYe =z 12,714
= 12,714

202 O4Hl 13,728 13,728 0
= 13,728

01 =Yl 13,728 13,728 0
o=zel = 13,728
= 13,728

308 AXIEHHSOIA 47,600 47,600 0
= 47,600

01 XS MBLEEXS 47,600 47,600 0
OANZ 2F2eEe =8 47,600
= 47,600

AASEEASH (AL 22l (=1) 209,704 0 209,704
Il 209,704

308 XX SHHSOIA 209,704 0 209,704
| 209,704

01 MHXSHBAEEXZ 209,704 0 209,704
ONASENMISH (At 22l]) 209,704
| 209,704

HAS BRNFI=M(=2) 27,666,336 31,029,654 23,363,318
= 27,666,336

308 XX HHSO0IA 27,666,336 31,029,654 23,363,318
= 27,666,336

01 HXSHMBAEXS 27,666,336 31,029,654 23,363,318
OMASEMAFI=A 27,666,336
= 27,666,336

DIZSEHRAE N (D) 159,000 0 159,000
= 150,000
& 9,000

403 XXM SA=01H 159,000 0 159,000
= 150,000




SN SHLEMDL
E: Y=Y FW FA(STHYSL/5 - 5E)
Shl LAY AT 2 (ol &2
_ _ _ Muo
SM-EH . C(BH) - HRAY - B2 O] Ak 4 Sl ko HRs2
= 9,000
01 MUXISMAZ2E = 159,000 0 159,000
on=ssgHdeld 54 159,000
= 150,000
= 9,000
DEIM MADIBAIL 7 300,000 425,000 125,000
403 THXISHHISKH 0| H 300,000 425,000 125,000
01 XM= E xR 300,000 425,000 A 125,000
OFBHLTO| MAAL 205,000
OO0 HBAL HUHSAY 75,000
SEIXS &2 & gat 2,959,388 3,849,544 A890, 156
= 1,634,330
= 53,600
= 1,271,458
YAssotEyd 23 25,000 28,000 A 3,000
307 GI2t0l & 25,000 28,000 23,000
02 ItAASE X 25,000 28,000 23,000
OLASLMNTY 29 25,000
sojplae REX 72,794 97,976 ~25,182
308 XX HHSO0IA 72,794 97,976 A 25,182
01 IXNHMBLEXS 72,794 97,976 225,182
02HSLAYL SHUNR ASXH 72,794
sl dR0otL=Hl X (21) 1,920,000 2,340,000 A420,000
= 1,600,000
& 320,000
308 XX SIS 0| F 1,920,000 2,340,000 A420,000
= 1,600,000
& 320,000
01 XS MBLEEXS 1,920,000 2,340,000 A420,000
0500 R0IARY X 1,920,000
= 1,600,000
= 320,000
s0Hge DwMLtH sits XI#E 600,000 880,000 A280,000
308 XX SHHSOIA 600,000 880,000 A280,000
01 HXSHBLEXS 600,000 880,000 280,000
Os0/¢0l DDMTHL SN2 X2 600,000
Hedsge 54 134,009 268,259 A 134,250
202 O4Hl 4,800 4,800 0
01 2UhoiH| 4,800 4,800 0
OAYEE U APHo| 4,800
308 XX HHSOIA 129,209 113,459 15,750




A sHEZ
PI=T
O =

S YRS FWH B (SRALLM/5Y - 5E)
& sEIIXIS 49 & g4 (ctel &
SN HB SR (BIH) - A - B S 0l &b S D=2
BN B O - HSAY - B2 Sh Of] &F o8 e
01 XS MBLEEXS 129,209 113,459 15,750
OsENHEZ2S012X 2FL=2X& 16,500
oOd=geldy 23 XI& 32,709
O&E=Zel JHel&y SHIHA 80,000
A=t S4H K& 134,000 133,650 350
&2 53,600
= 80,400
308 NXIEHHSOIH 134,000 133,650 350
= 53,600
= 80,400
06 WEI|20UeEExS 134,000 133,650 350
oG =0t ZAH XA 134,000
= 53,600
& 80,400
sEE2 2= & 30,000 30,000 0
308 XX HHSOIH 30,000 30,000 0
01 AXEHINELS 30,000 30,000 0
O sEs2 28 N& 30,000
59 -sZ& YBSHEX NE(=1) 43,585 71,659 228,074
2 34,330
& 9,255
201 Let2d| 6,910 12,934 26,024
= 3,455
= 3,455
01 AtE22/H] 2,910 5,800 22,890
OZL3EX HEW=E wl 7 2,910
= 1,455
= 1,455
03 A2 HI 4,000 7,134 A3,134
OXFBIIEEX HEZ =l 4,000
2 2,000
= 2,000
308 AXIEHHSOIA 36,675 58,725 A22,050
=2 30,875
L= 5,800
01 MXEHMIANELS 36,675 58,725 222,050
OZLEET &3H ¥ WSS 36,675
= 30,875
= 5,800
d2sgel 84 1,434,200 2,101,202 A667,002
= 744,500
= 689,700
2T sHYIAN 29 27,000 31,000 24,000
201 et 22,000 26,000 24,000
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SN S0EYY
HE: A=Y AW S (SYHVLL/=Y - S
el MEesYol sS4 (el a2
SH-EH . O3 - MBAY - BAS 0l aF ol Soe HRZ2
= 0IOIAEHUE 29(=21) 738,500 900,000 A 161,500
= 527,500
& 211,000
307 QIz2to| A 738,500 900,000 A 161,500
= 527,500
= 211,000
02 I2ZHEAMEX 738,500 900,000 A 161,500
OLJA=HOI0IAEHIHE 29 738,500
= 527,500
== 211,000
sSHAHYHALE X (2D) 162,000 290,000 A 128,000
= 162,000
308 AtXIEHAISOIA 162,000 290,000 A 128,000
= 162,000
01 AXESMBIAMNEXS 162,000 290,000 A 128,000
O=ddZAHLE XA 162,000
= 162,000
LAsENY 2 (sEHllLxd /58 - &) 45,779,292 58,092,660 A 12,313,368
= 1,650,548
= 36, 188,000
= 7,940,744
SEME0E 38 435 1,020,800 762,800 258,000
= 907,200
= 113,600
SsEZ 25835 FA 30,600 71,600 A 41,000
201 Et24d| 600 600 0
01 A2 2elbl 600 600 0
OB E0EIBAAE AHOS MHIA AEBZ 600
202 04| 10,000 10,000 0
01 2Wobl 10,000 10,000 0
OAE=E 2L LR 10,000
307 2I12to1A 20,000 20,000 0
02 QItZAS X 20,000 20,000 0
0% -5 MMIZRE X 20,000
SANENEDNES AMRE MEXS (=) 367,200 331,200 36,000
= 367,200
308 XMXIEHHSOIN 367,200 331,200 36,000
= 367,200
01 MIXSHHIAMNBEEZ 367,200 331,200 36,000
OsS&EMENE MRE HEX 367,200
= 367,200
TAS SXEZ20d X (=21D) 348,000 360,000 A 12,000




SN S0YE M
M YASENY BAS (SPHY M/ SY - 5E)
ool sEME0S FY 243 (oA
_ _ _ Muo
SN EB -GS - MBAY - BES 0 & 24 e HRE2
= 290, 000
= 58,000
308 XiXIEHHISOIH 348,000 360,000 12,000
= 290,000
= 58,000
01 HXSHBLEES 348,000 360,000 A 12,000
OZARIZT2I3 Xe 348,000
= 290,000
= 58,000
SHETSHEIA 8435 NR(2D) 275,000 0 275,000
= 250,000
= 25,000
308 Xt XIEHHSOIH 275,000 0 275,000
= 250,000
= 25,000
01 HXSHBLEES 275,000 0 275,000
OSOEZSHEIA 243 X 275,000
= 250,000
= 25,000
SEDZIIE 25 3,978,492 3,844,860 133,632
= 743,348
= 2,600,000
= 635, 144
=M=ZE FE0e Z4(2D) 1,200,000 1,800,000 600,000
= 1,000,000
< 200,000
403 XIS HS =0l H 1,200,000 1,800,000 600,000
z 1,000,000
= 200,000
01 XXSHHT=2EE 1,200,000 1,800,000 600,000
O=M=ZHES X4 1,200,000
2 1,000,000
= 200,000
SASZHOIBIAL (2 D) 1,920,000 1,260,000 660,000
= 1,600,000
< 320,000
403 XIS HS =0l A 1,920,000 1,260,000 660,000
z 1,600,000
< 320,000
01 RXISHAR=2EE 1,920,000 1,260,000 660, 000
OsYU=ZHOIZAZTH 1,920,000
2 1,600,000
= 320,000
ARBB2 TAANY(2D) 540,000 600,000 60,000
= 450,000
= 90,000




SN s0Y
olel =
O =

B UASEINY BB (SYHLLN/SY - SE)
Ol SEBTI|Y EHE (B9l &2
S EH . S(BH) - NEAY - B2 0fl Ak o gggf; HDE2

403 XXIEHMISX =201 540,000 600,000 60,000
= 450,000
= 90,000

01 XIXSHA=2EER 540,000 600,000 A 60,000
OulZ3t32t &4 540,000
= 450,000
= 90,000

AABEIMINESHM(=2D) 318,492 184,860 133,632
=2 293,348
& 25,144

308 MXISHHSOIN 318,492 184,860 133,632
= 293,348
& 25,144

01 AXEMIMNEBEEZ 318,492 184,860 133,632
(O SRS ESFSPNE=JN]| 318,492
= 293,348
o= 25,144

SEXNY e 40,780,000 53,485,000 A 12,705,000
Z 33,588,000
& 7,192,000

e az2Ads(2N-=2E2) 1,492,000 0 1,492,000
Z 1,492,000

308 AHXIEHHMI SOl 992,000 0 992,000
= 992,000

01 AXEMIMNEXZ 992,000 0 992,000
OXN AT} (EH YY) 992,000
2 992,000

403 MXISHHSA20|H 500,000 0 500,000
& 500,000

01 XXSHA=2ExR 500,000 0 500,000
OX et (EH YY) 500,000
& 500,000

SH=EMOIE ZE(2D-2E8) 360,000 0 360,000
Z 360,000

403 KMXISHMS K201 360,000 0 360,000
Z 360,000

01 AXESHAE2EER 360,000 0 360,000
OSH=MOIS A (EHEY) 360, 000
2 360, 000

SHEXNY JIZMED|B & =(201) 226,000 0 226,000
& 226,000

403 XXIEHHISA=201A 226,000 0 226,000
Z 226,000

01 AXISHA=2E xR 226,000 0 226,000




FA sHSBIR
B UASEINY DA (SYHSSN/SY - SE)
el sEXNY e (&9 :&d)
S BB SR (B) - NEAY - BAS 0f & o Soe DB
Os0EXNS JIz=dgl|g &5 226,000
= 226,000
sE0S SEMHY AL (= -8otL) 11,126,000 9,156,000 1,970,000
= 11,126,000
403 NAEHSA=01H 11,126,000 9,156,000 1,970,000
& 11,126,000
01 MXEMA=2E X 11,126,000 9,156,000 1,970,000
SENSSENLAY 11,126,000
= 11,126,000
sE0tS SEMHY MY (2D-s4FR) 20,384,000 12,135,000 8,249,000
& 20,384,000
403 XXM SA=01H 20,384,000 12,135,000 8,249,000
& 20,384,000
01 TUXIEHMA=ZE = 20,384,000 12,135,000 8,249,000
SESSENLAY 20,384,000
= 20,384,000
MsOEHLE2S 853 =4 92,000 134,000 242,000
201 2Bt 32,000 66,000 A 34,000
01 At 2t2ibl 17,000 51,000 234,000
O==0t= AN &I & B2 HH 4,000
OMsOHEAL=ES 2 29 3,000
OMsOHEALZ2S M- EE2SHH 10,000
03 A2 HI 15,000 15,000 0
OMsOHEALEES Ul /A5US 15,000
202 044 20,000 20,000 0
01 2UWHYI 20,000 20,000 0
OAEFA SXIEQI 20,000
301 YerBAZ 10,000 18,000 8,000
10 SAHAHIEA S 10,000 18,000 /8,000
OMsOHEALZ2S Al =29 10,000
307 2120l & 30,000 30,000 0
02 BIAAHEX 30,000 30,000 0
OMsOHEAL2S OJIHOIAE 2& 30,000
fsHEAL2s 2=+ UER2E Ot &N 7,100,000 9,300,000 /2,200,000
403 AXISHHSK=201H 7,100,000 9,300,000 /2,200,000
01 MUHXIEHMA=ZE = 7,100,000 9,300,000 22,200,000
OMsOHEALEES 202 &8 6,900,000
OMsSOHEALES HEZE0E 8F 200,000
BHSAAH (S Z D) (OIEH/IIEH) 359,738 420, 106 60,368
EdgH 246,420 376,440 130,020




A sHEE
M. HYSHAAH (sHIHD)(IIEH/DJIE
chel: ol | (el a2
SN (B) - MBEAY - B2 0l aF ol Soe HRZ2
S23 olAHHl X& 246,420 376,440 A 130,020
204 AP HEH| 246,420 347,640 A 101,220
02 Mz 2| 246,420 249,840 N 3,420
©3= 500,000& x1H*12& 6,000
O4= 400,000& x7H x12& 33,600
o053 250,000& x23H 128 69,000
o062 155,000& *34H « 12& 63,240
or=2 140,000 34« 12& 57,120
©8~93 105,000& * 11«12 13,860
ONZSZ2R4+Y(sASISHH)
300,000& x1H = 12& 3,600
Jl22& | 113,318 43,666 69,652
N2 JI2&H| 113,318 43,666 69,652
201 Et24d| 36,528 33,586 2,942
01 AR Zelbl 30,328 27,386 2,942
OBASY AIR22teldl 30,328
02 ss2494l 6,200 6,200 0
ORN2ZE S=529| 1,200
OFA(Z M eA s RS2 5,000
202 4 11,040 10,080 960
01 2| 11,040 10,080 960
ORAN2YE =0 H| 11,040
203 R F=&H| 28,800 0 28,800
01 J| 22 YRF=4H| 6,000 0 6,000
o=% 6,000
04 2EASIEHRF=AH| 22,800 0 22,800
© 1521 0|6t 250, 000& *x2H W= 12& 6,000
©302! Olat 350, 000& x4 W= 12& 16,800
204 AR HEH| 36,600 0 36,600
01 IR AFH| 36,600 0 36,600
o=% 600, 000& x12& 7,200
Oz, W& 350,000& x7H 128 29,400
405 KHAHFE S| 350 0 350
01 XML =S FHSHI 350 0 350
O 22 (1CH) 350
HRES(sHIEHY) (s Yo/ =L - &) 2,500,000 2,000,000 500,000
WEHHXI = 2,500,000 2,000,000 500,000
AT sHEAEDZ 28 2,500,000 2,000,000 500,000
702 Jl=2N&E23 2,500,000 2,000,000 500,000
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